YADURISE

Yaduvanshi Renowned Intellectual Search Exam

Mock Test - (2019-20)
Time :-1:30 Hours Class-3rd MM-70

Mental Ability Section

Tick (+ ) the correct answer -
1. Flower : Petals : : Book:

(a) Pencil (b) Pages (c) Author (d) Notebook
2. Mango : Yellow : : Tomato:
(a) Red (b) Pink (c) White (d) Blue
3. Bow : Arrow: : Pistol:
(a) Bullet (b) Gun (c) Shoot (d) Rifle
4. Big:Small::Go:
(a) Come (b) Down (¢)Run (d) Fast
5. AB:CD EF: GH IJ:KL MN:
(a) ST (b) QR (c) OP (d) PO

Find out the word which cannot be made from the letters of the given word.

6. Computer

(a) Come (b) Test (c) Put (d) Mute
7. Chemistry

(a) Story (b) Chemist (c) Try (d) Misty
8. Geography

(a) Geo (b) Graphy (c) Grapes (d)Egg
9. Education

(a) Cast (b) Done (c) Cat (d) Action
10.  Lady finger

(a) Lady (b) Finger (c) Fruits (d) Dear
I1. Classification

(a) Class (b) Fect (c) Action (d) Loss
12.  Relationship

(a) Relation (b) Lost (c) Ship (d) Relative

Find the missing pattern
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English Section

What is the antonym of word ‘Sweet’ ?

(a) Blunt (b) Bitter (c) Delicious
Definite article is

(a)a (b)an (c) the
What is the synonym of word ‘gather’?

(a) collect (b) group (c) scatter

[ saw otter at the zoo.

(a) an (b)a (c) the

Rajiv visited Red Fort last sunday.

(a)a (b)an (c) the

Choose the verb in these sentences .

“My mother cooks delicious food.”

(a) deicious (b) food (c) cooks
| (TR apen in pocket.
(a) have (b) has (c) are

Choose the correct proposition and fill :-

Look at the clock the wall.

(a)in (b)to (c)on
A fox fell the well.

(a)in (b) into (c)on
The cat sat the table.

(a) under (b)in (c) into
Deepti is standing Riya and Mary.

(a) among (b) between (c)in

Fill in blanks with suitable conjunction

I want bread tea.

(a) and (b) but (c)so
He cannot lift the box it is too heavy.
(a)so (b) because (c) but
Do you like mango orange ?

(a)so (b) but (c)or

(d) Happy

(d) all of these

(d) none of these

(d) none of these

(d) none of these

(d) my

(d) none of these

(d) from
(d) out
(d) of

(d)on

(d)as
(d) or

(d)as
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The patient is cured
(a)so (b) but

he cannot walk alone.

(c)or

Mathematics Section

How could we write 21 + 7 = 3 as a subtraction sentence ?
b)21-3-3-3-3-3-3-3=0

()21-7-7-7=0
() 14-7=7

Dividend =+ Divisor =

(a) Remainder (b) Quotient
Find the dividend -

[ ]+5=8

(a)13 (b) 8

Find the divisor :- 36 +[ ]=9

(a) 36 (b)4

Divisor x Quotient + Remainder =

(a) Dividend (b) Remainder
12+1= .

(@)1 (b) 12
0+13= .

(@0 (b) 13
25+25= .

(a) 25 (b)0

Division is repeated .

(a) subtraction (b) addition
Write the quotient and remainder -

120 + 10

(a)Q=12,R=20 (b)Q=12,R=0

(d)21-3=18

(c) Subtraction

()3

()9

(c) Sum

()0

(c) not possible

()1

(c) multiplication

(c)Q=10,R =20

If quotient =13 , divisor =3 , remainder =4 , the dividend =

(d) because

(d) Multiplication

(d) 40

(d) 6

(d) Divisor

(d) none of these

(d) 1

(d) none of thes

(d) divisor

(d)Q=20,R=10

(a) 180 (b) 184 (c)43 (d) 39

When we divide 0 by any number it gives the quotient as

(a) number itself (b1 ()0 (d) none of these
8 colour pencils are packed in one box. How many boxes are needed to pack 56 pencils ?

(a) 8 boxes (b) 7 boxes (c) 56 boxes (d) none of these
Choose the fact that belongs to the same fact familyas 6 x 2 =12

(a)12+2=6 (by6+2=3 (c)6x2=12 (d)1x12=12
Find the quotient :- 77 + 5

(a)5 (b) 15 (c)77 (d) none of these
The predecessor of 140 is -

(a) 141 (b) 139 (c) 140 (d) 138

The even numbers between 11 to 20 are -

(a) 13, 15,17, 19 (b) 12, 14, 16, 18 (c) 12,13, 14, 15 (d) none of'these

The successor of 69 is -
(a) 68 (b) 78 (c)70 (d)71
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The smallest even number is -

()2 (b)1 (©)0 (d)4
Roman numeral for 10 is -
(a)IX bV (o)L (dX

E.V.S. Section

The festivals based on religion are called -

(a) religious festivals (b) national festivals ~ (c) harvest festivals
Another name of Dussehra in North India.

(a) harvest festival (b) Eid (c) Vijayadashami
Which festivalis called as ‘festival of lights’ ?

(a) Holi (b) Diwali (c) Eid

Onam is the festival of

(a) Kerala (b) Assam (c) Punjab
Baisakhi is the main festival of the

(a) Hindus (b) Muslims (¢) Sikhs

Free food distributed in the Gurudwaras.

(a) Langar (b) Potato (c) Puri

Republic day is celebrated on -

(a) 26 January (b) 30 October (c) 15 August
Diwali comes after days of Dussehra.

(a) 10 (b) 20 (c) 30

Holi is Known as the festival of

(a) lights (b) sweet (c) colours

Which is the religious festival of Muslims ?

(a) Holi (b) Eid (c) Diwali

Where does the Prime Minister hoist our national flag on Independence day ?
(a) Red Fort (b) Agra Fort (c) Gateway of India

Pt. Jawaharlal Nehru’s birthday is celebrated as
(b) Children’s day (c)Holi

(a) Teacher’s day

Who is known as the father of nation ?

(a) Mahatma Gandhi (b) Indira Gandhi (c) Jawaharlal Nehru
Which festival is celebrated as birthday of Jesus Christ ?

(a) Christmas (b) Bihu (c) Holi
Which one of'the following is harvest festival ?

(a) Diwali (b) Eid (c) Dussehra

(d) none

(d) Holi

(d) Christmas

(d) Haryana

(d) Christians

(d) Wheat

(d) 2 September

(d) 40

(d) play

(d) Bihu

(d) None of these

(d) Diwali

(d) None of these

(d) Onam

(d) Bihu



